MERU SCHOOL
MATHEMATICS  FORM ONE HOLIDAY ASSIGNMENT TERM 1 2024
1. All prime numbers between 10 and 20 and summed up to form a number:
a) Find the number formed.								(2mks)
b) Write down the number in (a) as a product of its prime factor.			(2mks)
2. In a class of 40 students, 32 students paid sh.8550 each and the rest paid sh.6700 each for fees. How much did the 40 students pay altogether?					(3mks)
3. Kim borrowed Ksh.2650 from a friend. After two weeks she paid back Ksh.1255. she requested to pay the remaining amount in equal amounts for three weeks. How much did she pay each week?											(3mks)
4. a) Express 150 and 900 each as a product of its prime factors.			(2mks)
b)  Hence evaluate  900 								(2mks)
         150
5. Three metallic bars of length 400cm, 600cm and 700 cm are cut into equal pieces. Find the largest possible area of a square which can be made from any of the three bars.    (3mks)
6. Three bottles of capacity 560ml, 450ml and 400ml. find the capacity of the smallest bottle that can be used to fill each of the bottles in full measures.				(3mks)
7. When a certain number is divided by 20, 36 and 48, there is always a remainder of 13. Find the least possible value of the number.							(3mks)
8. Three alarms go off at interval of 12 minutes, 15 minutes and 24 minutes. The alarms will next go off simultaneously at 10.00 p.m. when was the last time the alarms went off together.												(3mks)
9. Evaluate:    							(3mks)
10. Given that a = 5, b = -2 and c = 2, evaluate:  a – b2        in its simplest form.	(3mks)
           6 – 2b + c 
11. Evaluate   							(3mks)
12. Convert 1. into a fraction.								(2mks)
13. John receives a salry of Ksh.15000 per month. In a certain month, he spent 0.2 of the salary on rent, 0.3 on food and oil on transport. He spent 0.25 of the remainder on school fees and saved the rest. How much did he save?							(3mks)
14. Find the exact value of 2..							(3mks)
15. Use squares and square root tables to evaluate :    -  2.6742			(3mks)
16. Evaluate using squares and square root tables.					(3mks)

17. Simplify:  x - 4xy + x2 – 4y								(3mks)
    4y2 – x2y – xy + 4xy2
18. Rose has x books. Kilonzo has three more books than Rose. Kezia has t books. Edna one book less than Kezia. How many books do they have altogether.				(2mks)
19. Three years ago, Kate was three times as old as June. In two years time, the sum of their ages will be 62 years. Find their present ages.						(3mks)
20. Juma, Ali and Hassan share the profit of their business in the ratio 3:7:9 respectively. If Juma received Ksh.60,000. How much profit did the business yield?			(3mks)
21. A mother is now five times as old as her son. In five years time she will be three times as old as her son. Find their present ages.							(3mks)

22. Moses spared some money for campaign. He spent ⅜ of the money on social media campaign and 2/5 on printed posters. The remaining Ksh.12,330 has to fund advertisements. Calculate the amount he used on printed posters.							(3mks)
23. Simplify:    2bx – 2by + 3ax – 3ay							(3mks)
           		 2x – 2y
24. Evaluate 2.7 x 104 – 3.6 x 103, leave your answer in standard form.			(2mks)
25. Evaluate:  1
                							(3mks)

SECTION B

26. Ole Kimongo is a farmer who owns x cows, y goats and z sheep. His animals, cows, goats and sheep are each valued at sh.33000, sh.7000 and sh.4000 respectively. If he sold all of them at the market and incurred a transport cost of sh.1650, what would be his profit?	 (10mks)
27. Three people Korir, Wangari and Hassan contributed money to start a business. Korir contributed a quarter of the total amount and Wangare two fifth of the remainder. Hassan’s contribution was one and a half times that of Korir. They borrowed the rest of the amount from bank which was sh.60000 less than Hassan’s contribution. Find the total amount required to start the business.									(10mks)
28. Kutu withdrew some money from a bank. He spent ⅜ of the money to pay Mutua’s school fees and 2/5 to pay for tatus school fees. If he remained with Ksh.12330, calculate the amount of money paid for Tatu’s school fees.							(10mks)
29. Use the tables of squares and squareroots to evaluate:
a)    										(3mks)
b) 										(3mks)
c) 

30. a)  Mwongeli receives a salary of Ksh.15000 per month. In a certain month, she spent 0.2 of the salary on rent, 0.3 on food and 0.1 on transport. She spent 0.25 of the remainder on school fees and saved the rest. How much did she save?						(5mks)
b)  Express 3. as a fraction.								(2mks)   
c)   Hence evaluate    - 3.   					(3mks)
31. a) Factorise a2 – 5at.									(2mks)       
b)    Factorise by grouping 5at + ab – a2 – 5tb.					(3mks)
c)  Hence simplify the algebraic fraction.						(5mks)
   5at + ab – a2 + 5tb
         a2 – 5at           
32. a)  Joan had some money in two denominations only: twenty shillings coins and one hundred shillings notes. She has four times as many twenty shillings as one hundred notes. Altogether she had Ksh.2160. how many one hundred shillings notes does she have.		(5mks)
b)  Three years ago, Kate was three times as old as June. In two year’s time the sum of their ages will be 62 years. Find their present age.						(5mks)
33. Three partners Mutua, Muthoka and Mwika contributed sh.600,000, sh.400,000 and sh.800,000 respectively to start a matatu business plying Machokos – Mumbuni rout. The matatus carries 14 passengers with each paying sh.250 one way. The matatu makes two round trips each day and ever full. Each day sh.6000 is used to cover the running cost and wages:
a) Determine   the cost of the matatu.						(2mks)
b) Calculate the profit made per day.						(2mks)                 
c) The matatu works for 25 days per month and is serviced every month at a cost of Ksh.12000. Calculate their monthly profit in June.				(3mks)
d) The three partners agreed to save 50% of the profit, 36% to be shared in the ratio of their contributions. Calculate Muthoka share in the month of July.			(3mks)
34.  Five companies had 2340, 3455, 675, 960 and 1350 workers. The first two companies laid of 1 worker fix every 5 workers, while the other three recruited 2 new workers for every 3 laid off.
a) What was the total number of workers at the beginning?				(2mks)
b) How many people:
i) Lost the job								(3mks)
ii) Got job 									(2mks)
c) What was the total number of workers finally?					(2mks)
35. A farmer has four containers of capacity 240 litres, 600 litres, 360 litres and 700 litres. Find the capacity of:
a) The smallest container that can be filled by each of them an exact number of times.  (3mks)
b) The largest container that can be used to fill each one of them an exact number of times.
c) A tank K is such that when it is filled by any of the containers above, there is always a deficit of 17 litres for the tank to be full. Find the smallest possible capacity of the tank. 											(2mks)
d) Express the answer (c) above in standard form.					(2mks)
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